Best model for HELP J161418.623+550502.971 atz = 1.28 )(2=3.96
OPTx?=5.18 IRx?=2.06 threshold (OPT IR)=18.24 [um]

102 . Stellar attenuated
- Stellar unattenuated
m —— Dust emission
101 —— AGN emission
= Model spectrum
® Model fluxes
100 M oObserved fluxes
>
? 10_1 ot "“x\‘\
! "
— "h.w“m—-f,{r
L
P 2 [I]
310
[N
— D
10°3
1074
X
2073
1
= ] ==f=(Obs-Mod)/Obs
S ]
S ]
7 ]
8 0 - r-—-——-—-—-—->----F1¥r+--—-—-—--———————
) ]
2 ]
5 ]
© —1 T T CIGALE
()
(o'

10° 10t 107 103 104 10- A
Observed wavelength [um]



